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1

REQUIRED
(a) The budgeted (standard) cost and the actual cost of production for batch B47.

Please show your workings to question 1(a) below.

Working Box
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BLANK PAGE

Question 1(b) begins on page 4
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4
(b) The following variances from standard for batch B47:
e material price variances
*  material usage variances

J labour rate variances
J labour efficiency variances. [16]

Please show your workings to question 1(b) below.

Working Box
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(c) A reconciliation statement for the budgeted (standard) cost and the actual cost for batch B47.

system.
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2 REQUIRED

(a)*
*  The Cash Budget for each of the three months July, August and September 2013
*  The Budgeted Trading Account for the three month period ending 30 September 2013
* The Budgeted Balance Sheet extracts as at 30 September 2013 to show:
Current Assets
Current Liabilities [28]

Please show your workings to question 2(a) below.

Working Box

© OCR 2013



©OCR 2013 Turn over



© OCR 2013



©OCR 2013 Turn over



12

(b) Discuss three advantages of a budgetary control system to a business such as Brocastle Ltd.
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BLANK PAGE

Question 3 begins on page 14
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3 REQUIRED

(a) Explain, giving supporting calculations, whether or not you agree with the directors
suggestion. You must show total contribution per product in your answer. [10]

Please show your workings to question 3(a) below.

Working Box
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(b) (i) Castleton Ltd has received an enquiry from a potential new customer offering to buy
a quantity of 500 units of Product 2 at the price of £20 per unit. Calculate whether this
special order will make a profit or a loss.

Please show your workings to question 3(b) below.

Working Box
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(ii) Discuss three factors which should be taken into account when considering whether or
not to accept the special order.
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REQUIRED

(a) The current factory overhead rate and apply this to calculate the selling price for job 2408.

Please show your workings to question 4(a) below.

Working Box
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(b) The overhead recovery rate for each department, using the following methods:

(i) percentage of direct labour cost (where appropriate, calculations should be to one
decimal place)

(ii) direct labour hour rate.

Please show your workings to question 4(b) below.

Working Box

(i) percentage of direct labour cost (where appropriate, calculations should be to one
decimal place)
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(ii) direct labour hour rate.
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(c) Using the direct labour hour rate for each department, calculate a new selling price for job
2408.

Please show your workings to question 4(c) below. [71

Working Box
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(d) Contrast the current method of applying a single rate to absorb overheads as opposed to
individual departmental overhead absorption rates.
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(e)* Evaluate the methods stated in part (b) for the recovery of factory overheads. Justify which is
the most appropriate method.

END OF QUESTION PAPER
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